( )

(mean)fr
(coefficient variation)

2

analysis)»

3

confirmatory factor analysis)

(INPUT)
euRR

cur 1
cur 2

cur 3
cur 4

(standard deviation)

(confirmatory factor

(second order



TECH
14

tec
tec

tec

tec

tec

tec

10

1

12

13

14

15

16

A,

.. 2542



tec

tec

tec

tec

tec

tec

STUD

stu

stu

stu

stu

stu

SUPP

sup

sup

sup

sup

10

1

12

3.0

(GPA)

69



sup 5

sup 9

sup 10

MACUR

mac 2

mac 3

mac 5
mac 6

mac 7

mac 8

10

(PROCESS)

11

12

70



P4

mac

mac

mac

mac

mac

mac

mac

mac

QATC

P5

gat

gat 2

gat

13

10

1

12

14

13

14

15

16

17

18

15

71



gat
gat

qat

pb
gat

gat

qat

gat

gat

P7

gat

gat

gat

QSTU

gst

qst

qst
gst

gst

10

11

12

13

14

16

17

18

72



qst

qst

qst

qst

qst

qst

qst

10

11

12

MASUP

P

mas

mas

mas

mas

19

20

internet

21

22

A d

73



QRAD
gra
gra

gra

02

gra

gra

gra

gra

gra

gra

03

gra

gra

gra

gra

gra

gra

10

11

12

13

14

15

(OUTCOME)

2.75

23

24

25

(GPA)

74



04

gra

gra

gra

05

gra

gra

gra

gra

gra

gra

gra

gra

SATIS
06

sat

16

17

18

19

20

21

22

23

24

25

26

1

26

27

28

75



sat 2

sat 3

CONS

T

con

08

con

con

29

30

76



77

MEAN
SD.

X2 -

GF (Goodness of Fit Inclex)

AGF| (Adjusted Goodness
of Fit Index)

df

R2
RMR



78

( 51l)

(mean) (standard deviation) "
(coefficient variation)

41 (N=147)
% 66.67
49 33
30 2 136
30-39 16 1088
40- 49 A 2313
50-59 % 64.63
4 2.1
14 10.75
Y 2653
2 7 66 4490
10 47,62
1 748
1- 10 19 1293
n-2 40 2121
20-30 63 42.86
30 5 17.00



66
70

21-30
30 25
87.07

147

(standard deviation)

66.67

44.90
47.62
11-20
63

17

50 59 95
70.75
40 27.21,
42.86
)
6
(mean)fr

(coefficient variation)

10

79

64.63

10

4.2



4.2

(INPUT)
(CURR)

. 2542

(N=147)

MEAN

39
3.65
4.04
3.62
3.84
373
388
417

422
412
411
4,01
3.76
401

412

4.08

SD.

0.74
0.76
081
081
0.75
0.78
0.80
0.79

0.77

0.78

091

0.69

0.74

0.73

0.90

085

80

CVv.

019
021
020
022
0.20
021
021
019

018

019

022

017

0.20

0.18

022

021



81

42 ()

( ) (N=147)
|5 MEAN SD.  CV.
(INPUT) ()
] (TECH)
(14
367 08 023
5 38 081 02
360 086 024
(1)
| 41 082 020
/ 33 082 0
397 113 028
()
338 109 032
3% 0% 029
32 0% 08
/ 330 088 027
35 088 027
3L 087 04
] (STUD)
([
(GPA) 6 30 3® L7 03
320 097 030
(19

393 108 027

299 106 035
297 18 035



42 ()

(INPUT) ()
(SUPP)
|
(10
(PROCESS)
(MACUR)

MEAN

312

350

397

359

3170
3.78

397

4.02

380
363

365
359

384

393

SD.

0.88

093

0.98

0.9

0.86
089

095

0.85

0.88
0.92

090
0.80

0.94

0.77

82

(NEL47)
CV.

024
027
025
0.2

023
024

024
02

023
0.2

025
022

0.24

020



42 ()

/
(PROCESS) ( )

(P4

(51

MEAN

387

373
380

379

357

350
373

375

367
4.16
387

3.9
363
3.76

SD.

0.86
085
091

087

0.79

0.88
0.76

080

0.79
084
0.74

084
0.79
081

83

(N=147)
CV.

022
023
024

023

022

025
020

024

022
020
019

024
022
022



42 (

/ /
(PROCESS) ( )
# (QATC)

MEAN

3.84

393
4.07

395

3.39

3.80

375

340

381

3.80

3.82

340

363

365

S.D.

0.79

0.86
081

0.84

0.80

0.86

0.96

081

081

0.84

0.82

0.80

0.82

0.90

84

(N=147)
CV.

021

022
0.20

0.24
0.24
023
0.26
0.24
021
022

021

0.24
023

025



42 (

internet

/ /
(PROCESS) (')
(QSTY)

' ()

(MASUP)
(Pn)

(P2

MEAN

346
312

315
346
3.34
350
347

356
3.10

31

383

318

373

379

363

342

37

387

SD.

083
0.74

0%
091
0.88
0.74
0.82

083
0.82

0.84

091

093

085

091

088

0.87

0.94

0.88

85

(NEL4T)
CV.

0.24
020

0.30
0.26
0.26
021
0.24

023
022

022
0.24
025
023
0.24
0.24
025

025

023



42 (

/ /
(OUTCOME)
(QRAD)

<)

(GPA) 275

€2

MEAN

352
318
3.54

401

3.84

4.07

3.84

39

385

389

383

4.10

3.80

3.86

373

4.24

4.10

4.14

SD.

0.75

0.86
0.78

0.84

081

0.75

083

0.82

0.75

0.79

081

081

0.88

0.84

0.2

0.84

0.89

090

(N=147)
CV.

021
023
022

021
021
018
022
021
019
0.20
021
0.20
023
022
019
0.20

022

022



42 ()

(
/ /
(OUTCOME) ( )
(QRAD) ()
(09)
(SATIS)
(09
5
(CONS)
(09

MEAN

3.62
39
31
4.04

365
401

3.67
391

4.10

4.19

412

3.80

4.03

3.56

369
359

SD.

0.76
0.79
082
0.80

083
0.75

0.75
0.84

085

0.88

083

0.78

0.82

0.94

083
0.86

87

(N=147)
CV.

021
020
022
0.20

023
019

0.20
021

021

021

0.20

021
0.20
0.26

022
0.24



88

42 ()
( 5) (N=147)
I I MEAN  SD.  CV.
(OUTCOME) ( )
(SATIS) ()
(Gg)
] ) 381 082 02
! 376 077 020
( 5 )
147
( 5) 297
4.24
(gra 16)
( 5 )
(stu 4)



89

(construct validity) i
129 il

(measurement model)

( , 2542)
Bartlett 1 !
(identity matrix) - - (Kaiser-
Meyer-Olkin Measure of Sampling Adequacy = MSA) 05
(construct validity) il
129 (measurement model) 1
(correlation
matrix) (confirmatory factor analysis = CFA)
LISREL 853 (path diagram)

(construct reliability) R2
Joreskog  Sorbom (2001) (factor loading)
Johnstone, J.N. (1981)  Joreskog, K. G. (2001)
Johnstone, J. N. (1981)



90

4.3

MSA

arl ar2 ar3 ard aud a6 ar7 a8 ar9 ar®d arll ar? awrB a4 awrd awb

arl
ar2
ar3
ard
ad
a6
ar’/
a8

8

=i
288
SEC]S
28989

ESH88Y

ER8RING
EBSTSSI888
ERESRIBRY
SHSQBNEES
EESE8SHNEN
ExEuBIn8ag8R
ERaRNNE99884983
BRI SIR8IANEY®
QNNYNESERNETS
IHEERTSSRR88RSS

oS IKaY
S33383333

Kaser- Meyer- Qlkin MeasLre of Sanpling = &8

4.3

(P < .05)

0.661

0.029

1

1

15

16

sampling adequacy =

(Kaiser-Meyer-Olkin  measure of

0.941

0.777

MSA)



R2

.09
.03
18
16
23
-.03
19
35

19
23
19
15
13

22
37
23

b (SE)
curl 58 (.08) 731 33
cur2 .39 (.08) 4.71 15
cur 3 73 (.07) 9.80 53
curd 45 (.08) 5.36 20
curs 65 (.08) 8.53 42
curé 50 (.08) 6.18 .25
cur7 T4 (.07) 9.18 52
cur 15 (.08) 9.95 56
cur 9 73 (.07) 10.05 54
curio J4.(.07) 9.98 55
curl'l 70 (.07) 9.39 49
curl2 67 (.08) 8.81 45
curl3 52 (.08) 6.34 27
curld 76 (.07) 10.31 58
curls 85 (.07) 12.13 73
curls 77 (.07) 10.57 60
Chi- square = 74.37 df = 101 P = 0.98
GFIl = 0.94 AGFI = 0.92 RMR = 0.044

111> 1.96 P<.05, 111> 2.58 p<.01



68

4.1

7

85

58

39
73

.45

.65
50
74

75

73

74

.70
67

52

2

3
@

FS
3

g

cur S 58

-
@

cur? 48

£

&

cur 10 et

.49

55

cur 13 fe22

cur i4 I‘i‘

curlS [¢—

BlH

92



93

0.92

0.39

4.4 4.1
(constructvalidity)
(Chi-square) 74.37 0.98
101 (df=101)
(GFI) 0.94 (AGFI)
0.39 0.85
01
3 curl-cur 8
() cursg
0.75
56 cur7, curd, curs, curl, cur6, curd

cur2 0.74,0.73,0.65,0.58,0.50,0.45

52,53,42,33,25,20 15 cur9 - curl3

() curio

T4 55
curd, curll, curl2

curl3 0.73,0.70,0.67 0.52

54,49 45 27
curld - curlé
() curls 0.85
73
2 0.77 0.76 curle
60 58

(cur9 + curio + curl 1+ curl2 + curl3) /5

(curl4d + cur5+cur6)/3

Johnstone, J. N. (1981)

(curl + cur2 + curd + curd + cur5 + curé + cur?7 + cur8)/ 8
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4.5

MSA

tcl tc2 tc3 tecd tcd tc6 tc7 tec8 tecd tcl) tcll tcl2
tcl 1000

tc2 .38 1000

tcd 25 531 1000

tcd 3R 3B/ 42 100

tcd 26 B 4D 2 100

tc6 18 197 A3 B SO 100

c7 1B 00 I 32 B 62 100

tc8 Ml 010 24 204 X% I8 M8 100

cd 241 10 3D M P 4L 60 &M 100

ec 22 ® I8 20 1% 35 40 48 59 100
ecll 27 248 B A 36 A S B 77 60 100
ecll 38 24 37 3B B W 45 B K 2 2 100

MEAN 367 38 360 411 38 3% 338 35 342 33 35 36

SD. 84 & & 2 1B 1® % $ B8 8 &
MAA 88 718 8 86 83 80 87 88 Z3 & 81 90

Bartlett' test of sphericty = 8406% p =00
Kaiser - Meyer- Olkin Measure of Sapling = 850
4.5
(P < .05)
T 2, 8 2 10 2
0.010 0.727 1 1 9
8 2 - - (Kaiser-Meyer-0lkin

measure of sampling adequacy = MSA) 0.718 0.910



.30

27

49

.30

29

29

11

.06

42

23

21

15

95

46
t R2
b (SE)
(14
tecl 55 (.09) 6.52 31
tec2 67 (.08) 8.42 45
tec3 77 (.08) 9.37 61
(19
tecd 75 (.08) 9.79 57
tech 71 (.08) 9.22 52
teco 62 (.07) 8.34 39
(16)
tec? 61 (.07) 8.63 .39
tec8 63 (.07) 8.60 42
tec9 86 (.07) 12.72 75
tec 10 70 (.07) 9.34 48
tecl 1 84 (.07) 12.26 71
tec 12 67 (.07) 9.21 46
Chi-square = 29.41 df = 49 P = 0.99
GFI = 0.97 AGFIl = 0.95 RMR = 0.043

111> 1.96 P< .05, 111> 258 P< .01



69

55

55

67

77

39
43

75

A7

tec 5

71

62

59

tec 7 58

61

S5

63

S

A
9
4

& a 2 =

86

70

84
67

4.2



(Chi-square)

(GFI)

tec8
0.61

48,46,42

97

4.6 4.2
29.41 0.99 49 (df= 49)
0.97 (AGFI) 0.95
0.41 0.93 01
3 tecl -tec3 3
(14
0.77, 0.67 0.55
61, 45 31 tec4d-tect ,
() 3
0.75, 0.71 0.62
53, 52 39 tec7 - tec 12 '
' () tec9 tecl 1
0.86 0.84
75 71 tec 10, tec 12,
tec? 0.70, 0.67,0.63
399

(tecl + tec2 + tec3)/3

(tecd + tech + tec6)/3

Johnstone, J. v . (1981)

(tec7 + tec8 + tec9 + tecl0 - tecll+ tecl2)/6
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{ 41
MSA
ful w2 w3 dud s
sul 100
w2 60 100
w3 48 35 100

ud I o33 -A L0

w3 W M B 100

MEAN 338 32 38 29 29

s 1wor 9 18 106 1

MA &8 68 59 53 63

Bartlett's test of sphericty = 228464 P =000
Kaiser - Meyer - Olkin Messure of Sanpling = 620

47
(P< 05 1
5 3 0078 0640
2 1 5 3

(Kaiser-Meyer-Olkin measure Of sampling adequacy = MSA)

0513 0698



48 )

b(SE)
()

1 67(.10)

2 95(11)
(19

100
59(,20)
59(.20)

Chi - square = 555 df =2
GFl =09 AGFIl = 089
111> 1% P<(b, 111>258

43

6.81
841

2.86
2.86

R2

46

90

0
02
02

P =006
RMR = 0.039
P<0l

-13
18

-32
-28
-11

99



100

48 43
(Chi-square)

5.55 0.06 2 (df=2
- , (GFI)
0.99 (AGFI) 0.89
059 100 0
2
stul - Su2
1 w2 090
90 stu 1
0.67
46 3- 5
(9) 3
1.00 7
4 5 0.59
1 \; | A 1



49
MSA

sl ap2 9p3 Ipd p5 b ap7 p8 ap9 spld
sipl 1000
gp2 63 100
p3 B 43 100
pd 51 63 M 100
gp5 H M 68 737 100
p6 3J7 6 6 B 57 100
p7 M8 XN 65 N0 M 69 100
gp8 42 A 60 56 40 63 70 100
p9 L7 37 57 B 5H6 X7 68 60 100
pl 59 W 43 40 M4 0 AR B B 10
MEAN 372 350 397 3% 30 3B 39 4R 38 3@
b 8 B8 8 % H H H H B 2
MSA 89 & 7 84 2 94 8% 86 9B 99
Bartlett's test of spheriaty = 912087 P=00

Kaiser- Meyer- Olkin Meastre of Sanpling = 8%

49
(P < .001)
0260 0737
5 4 7 2
(Kaiser - Meyer- Olkin - Measure of sampling adequacy = MSA)
0837 0928



410

supl
SUp2
Sup3
supd

Sups
SUp6
sup/
SUp8
sup9
supl10
Chi-square = 1231
GFl = 0.98
111> 1%

df =2
AGFl = 0.96
P<(5, 111>258

868
6.86
1151
1208

11.00
851
9.85
8.80
10.34
6.93

P<0l

8 R E

=

g

49

58

32
P =093
RMR = 0025

16

32

24

16
-01
24
07



103

44



104

(Chi-square) 12.31 0.93 21 (df= 21)
(GFI) 0.98 (AGFI) 0.96
| 1. » 056 | 084 d 1
0
2 supl - supd (
(19 sud s 084
0.82 n 68
supl — sup2 0.68
0.56
M3 sup5-supl0
(1

SUp5, Sup9, sup?, sups, supo supio
0.79, 0.76, 0.74, 0.70, 066 056
63,58,55,49,44 3

19 = (supl + sup2 + sup3 + supd) /4

110 = (sup5 + sup6 + sup7 + sup8 + sup9 + supio) /6



41
MSA

macl  mac2 mac3 mac4d mac5 mac6 mac7  mac8  macd
mac 1 1.000
mac 2 642 1.000
mac 3 344 544 1.000
mac 4 379 539 616 1.000
mac 5 259 487 647 616  1.000
mac 6 323 488 600 585 706 1.000
mac 7 350 441 536 556 .604 601 1.000
mac 8 342 463 567 519 676 588  .647 1.000
mac 9 AT8 462 299 497 329 397 412 424 1.000
mac 10 433 421 305 532 338 368 363 326 .651  1.000
mac 11 288 441 461 502 550 476 493 563 405 468
mac 12 294 466 380 526 488 502 523 493 529 432
mac 13 398 A14 500 526 523 471 445 559 520 434
mac 14 276 213 317 378 481 469 - 452 486 330 139
mac 15 342 393 370 391 359 356 266 456 382 309
mac 16 280 482 508 492 586 555 569 - 483 301 249
mac 17 .306 469 495 538 400 410 334 353 400 342
mac 18 338 536 453 547 547 505 505 485 364 323
MEAN 3.65 359 384 393 3.87 373 380 379 357 350
SD. 90 80 94 7 .86 85 91 87 79 88
MSA 8217 880 923 961 934 963 906 920 883 863
Bartlett’s test of sphericity =  1534.924 p = .000

Kaiser - Meyer- Olkin Measure of Sampling =

411

6 5

914

0139 0.706

1.000
593
558
399
372
461
353
362

3.73

.76
922

14

1.000
554
446
428
522
424
522

3.75

80
934

10

1.000
452
361
AT6
431
493

3.67

19
930

1.000
263
452
355
420

4.16

84
921

1.000
451
406
312

3.87

T4
894

P < .00

(Kaiser-Meyer-Olkin measure of sampling adequacy = MSA)

0827

0.961

105

1.000

519 1.000
601 655
3.96 363
84 19
931 892

mac10 macll mac12 mac13 mac14 mac15 mac16 macl7 mac 18

1.000

3.76

81
904



106

412

t R2
b(SE)
(P
mac 1 47 (.08) 582 2 (L
mac 2 69 (.08) 915 47 12
mac 3 19(.07) 108 62 5
mac 4 80(.07) 1120 o 23
(P
mac 5 85 (.07) 232 1 28
mac 6 19 (.07) 115 & 17
mac 7 16 (.07) 1048 57 14
mac 8 19(.07) 1116 62 16
(P3
mac 9 06 (.07) 88 4 28
mac 10 .56 (.08) 18 3 02
mac 11 16 (.07) 1028 58 28
mac 12 17(.07) 102 & 20
(P4
mac 13 12(.07) 982 R 12
mac 14 58 (.08) J T 07
mac 15 .95 (.08) 693 X 6
mac 16 15(.07) 1021 %6 19
mac 17 63 (.08) 829 40 W
mac 18 JL(07) 9.76 52 13
Chi-square = 1341 df = 129 P=03
GFl =091 AGFL = 0.88 RMR = 0.042

111> 1% P<.06, 111>258 P<0L



45

84

89

47

69

79

80

85

79

76

.79

56

76

77

SR

55

a5

63

n

s
.
38

mac 9 le33
| 48

mac 13

mac 14 58
70

mac 1S —1

107



412 45

1341 033
091 (AGFI)
047 08
macl-macé
(P,) macd  mac3
080 079
64 62 mac2  mad
047
mach - mac8
(P2 mach
mac/ 0.79,0.79
mac9-macl2
(P3 macl2  macl1
0.77 076 60 58
mac9 macio
056
32 macl3-macl8
(P4
macld  maclb

072,071,063 058 055
56,52,52,40,3% 30

108

(C hi-Square)

129 (df= 129)
(GFI)
0.88
0L
4
0.69
4 2
il
maco, mac8
0.76
63,62, 57
0.66
45

mad6, mad3, mad8mad7,

0.75,



109

P, = (macl + mac2 +mac3 + macd) / 4
(

P2= (mac5 + mac6 + raac7 +mac8) / 4

P3= (mac9 + maclO +macll+ macl2) /4

P4= (macl3+ macl4+ mac!5 +macl6 +mac!7 +mac!8) /6
6

413

MSA

el 2 i3 4 5 rb 7 o8 9 b il @l @B Y
gl 100
|2 3 10
|3 47 68 100
|4 B H 4B 10
|y I 3 37 A2 10
@6 DO A 2 B 41D
|7 B L 6 X B 21U
@3 X I U 2 A L 1
|9 A B B Y M4 53100
@0 B H ML 0 B 2 4B &1
|l 3B Y M 2B B H B I 66 LD
@2 B 0 24 3 % B N KB M 00
BB 3B BH LR B HDH BB LB B AL
Y M W BN M LB R IBA N L0
MEAN 38 3B 407 3% 33 39 35 30 38 30 3@ 34 3B 3B
SD A &% &4 &8 9 &% 4 4 42 02 9
VBA & 86 99 B T B K X W MR MHA W
Bartlett's tes of spheriaty = 113164 p=00
Kaiser- Meyer- Qlkin Measure of Sanding = 886

4.13
(P < .05
2 7 2 10 2 1
0071 0727 ! 7 6
, 2 1 - - (Kaiser-Meyer-

Olkin measure of sampling adequacy = MSA) : 0.659

0.946



414

t R2
b (SE)
(P
gat 1 58 (.08) 24 3
gat 2 58 (.08) 23
gat 3 17(.07) 1052 60
gat4 53(.08) 653 28
gat5 52 (.08) 648 .28
gat 6 80 (.0) 110 83
(P9
gat 7 17(.07) 1107 6l
gat 8 64 (.08) 85 A
gat9 18(.07) 109 6l
gat 10 6L (.08) 83
gat 1L 63 (.08) 828 A
(P
gat 12 43(.08) 581 B3
gat 13 92(.07) 2% &
gat 14 16 (.07) 1009 %%
Chi - square = 59.03 df = 74 P =090
GFl = 0% AGFl = 094 RMR = 0.045

111> 1% P<05, 111>258 P<0l



4.6

.58
.58
53
.52

.80

2

.61

Ay

.76

qat3

qat 5

qat 7

qat 10

:

.68

.40

qat 12 g:76

qat 13

.15




(Chi-square) 59.03
74)
(GFI) 0.94

01

gatdl(  gatb

63,60,34,33,28 28

0.78,0.77, 0.64, 0.63
gatl2 - gatl4
(P7)

gatl3, qgatld gat 12

85, 56 23

0.90 74 (df=
(AGFI) 0.94
0.48 0.92
gatl - qaté
(P9

gaté, gat3, gatl, gat2,

0.80,0.77, 0.58, 0.58, 0.53 0.52

gat7 - gatll
(P6)
gat9, gat7, qat8, gatl 1 gatio
0.61

61,61, 41,40 37

0.92, 0.76 0.48

PS5 = (gat 1+ at2+qat 3+ qat4 +qatb +qat 6) / 6
P6= (cat7+0at8+0at9+qatio+qatl 1) /5

P7 = (qatl2+qatl 3+ qatl4) /3



7.

4.15

MSA

gst1l gst2 qgst3 qgst4 qgst5S qgst6 qgst7 gst8 qgst9 qgst10 qgst1l o qgst12
gst 1 1.000
qst 2 268 1.000
gst 3 -010 325 1.000
qst4 145 395 685 1.000
qst5 158 337 556 525 1.000
qst 6 369 404 390 413 546 1.000
qst 7 252 240 464 482 460 490 1.000
qst 8 365 215 355 420 374 431 665  1.000
gst 9 214 392 533 523 511 401 381 350 1.000
gstio 144 346 386 558 291 282 345 384 600 1.000
gstll 069 408 396 542 381 328 263 210 691 501  1.000
gst12 070 412 499 534 336 278 225 179 625 408 786 1.000
MEAN 346 372 315 346 334 350 347 35 370 377 383 378
SD 83 T4 95 91 88 14’ 83 82 84 91 93
MSA 618 924 796 857 884 886 855  .824 848 839 780 812
Bartlett's test of sphericity = 887.106 p = .000
Kaiser- Meyer- Olkin Measuresof Sampling = .834

4.15
(P < .05)

3 1, 1 1 12 1

0.010 0.786 12 1
31 (Kaiser-Meyer-Olkin

measre of sampling adequacy - MSA) 0.618  0.924



R2

.06

.05

.16

.38

.10

-.10

.10

01

.06

14

-.10

.26

(SE)

gst 1 24 (.08) 2.89 06

gst 2 48 (.08) 5.99 23

gst 3 76 (.07) 10.41 57

qst4 ,83(.07) 11.83 .69

qst 5 64 (.08) 8.51 42

(P9

qst 6 A7 (.08) 6.07 23

qst 7 56 (.08) 7.22 32

qst 8 49 (.08) 6.39 25

qst 9 79 (.07) 10.59 61

gst 10 .69 (.08) 8.94 Y

gst 11 68 (.08) 9.06 47

gst 12 71 (.08) 9.24 49
Chi-square = 53.76 df = 51 P = 037
GFl = 0.94 AGFI = 0.91 RMR = 0.05

111> 1.96 P<.05, 111>258 P< .01



92

76

43

31

57

74

24

qst 2

48

76

83

64

1.02

qst 5

47

qst 7 68

56

A9

a3

79

A9

1.09

54

69

68

53

a1

52

4.7



4.16 4.7 !
(Chi-square)
53.76 0.37 51 (df= 51)
(GFI)
0.94 (AGFI) 0.91
0.24 0.79 01
3 gstl - qgsth
(P8
qst4, qst3, gstb, qst2 qstl 0.83,0.76,
0.64,0.48 0.24
69,57,42, 23 6 qst6 - qgst9
(P9
qst9, qst7, gst8 qst6
0.79, 0.56, 0.49 0.47
61,32, 25 23
gstl0 —qstl2 (PY
qstl2,
qstl0 gstl1 0.71,0.69 0.68
49, 47 47

ps = (Ostl + ost2+qsts+ gst4 +qsth) /5
P9 = (ost6+ qst7+0st8+0st9) /4
PI- (qst 10+ gt 11 +0st 12) /3



417
MSA

mas 1 mas2 mas3 mas4d masS  mas 6

mas 1 1.000

mas 2 369 1.000

mas 3 570 519 1.000

mas4 401 366 551 1.000

mas 5 485 534 586 346 1.000

mas 6 429 584 604 396 682 1.000

MEAN 373 3.79 3.63 3.42 3.79 3.87
S.D. 85 91 88 87 94 88
MSA 881 901 843 861 840 832
Bartlett's test of sphericity = 361.431 p=.000

Kaiser- Meyer- Olkin Measure of Sampling = .856

4.17
(P <.001)
0036 0682
6 5 5 4
- (Kaiser-Meyer-Olkin measure of sampling acequacy = MSA)
0832 0901



418

t R2
b(SE)
(P
mas 1 63 (.08) 9 L
mas 2 57(.08) s 3
mas 3 9L (.07) (VA
mes 4 61 (.08) 83
(D
mas 5 81(.08) 1060 .64
mes 6 85(.07) 18 13
Chi- square = 2.07 df = 8 P=09%
GH = 100 AGFL = 099 RMR = 0.014
111> 1% P<05, 111>258 P<0L

48

Sass

SIS
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418 48

(Chi-
square) 207 0.98 8(df=8)
- (GFI)
1.00 (AGFI) 0.99
057 091 (0]}
2 masl-mas4
(Pn) mes3
091
82 masl, mas4 ~ mas3
063,061 057
40,37 3 mas5-masb
(P
081 08 4 73

Pn = (masl + mas2 +mes3 + masd) /4
PP = (mas5 + masb) / 2
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MSA

2 g8 gk gib gb g gB g gao gal gd2 gd3 gad gabd

ERINIBIEEYUZRTE
ES3mEBReI8IgRE™®E
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419( )

MSA

ga) gl gl g2 g3 gad gab gab

grais

Sg =8
Eagk8
gegghs
EN3B88S
SEESEEsRE

P< 0

2%

25

14,
0.767

0.049

(Kaiser-Meyer-Olkin

1

4

measure of sampling adequacy = MSA)

0.965

0675



4.20

t R
b(sH
0)
gal 2(0 I .
ga2 61(09) 6%
ga3 77(09) 8% B
(02
gad (09 1y 5
gas 77(07 14 5
gab (07) ng &
ga’ (09 ne &
gas 7(07) e R
gad 7(07) 060 3B
(3
gal %(07) LY B
gall 2 (06) ue 8
gal 2 (06) ue M
gals 78(06) 06 A
gal 78(06) L5 R
gab (00 0% A
(04
gal 70(07 W M
gl (09 7
gaB %(0 Uy B
(03
gal &(0) o M
gald (06 U5 8
ga2l 77(07 1y »
ga2 (00 0% A
gaZs (%) BY 5
ga2d 71(05 BO A
ga’ 71(05 BY 5
ga% (05 ux 8
Ohi- spere = 28482 of = 29 P =013
GFl =087 AGH = 08 RMR = 0054

o N>1% P<®b, 1UB23 p<.01

RRSs

EE8EBR

S8 6B

NNE

PRBEREBRS



gral

52

gra?

37

.50

.55

32

e
<

54

gral3

78

ol

gra 14

grs 16

70

85

grs 17

grs 18

gra 25

3

gra 26

4.9
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4.20 49

(Chi - square)
284.82 0.13 259 (df= 259)
(GFI)
0.87 (AGF1) 0.82
042 08 0L
, 5
gral-gra3
0,) 042
061 077
18,37 59 grad-grad
(0)
B70:0.77,079,070,078- 2076 4 ! P 750,5,6548,622 58
gralO-gral5
(03
086,082, 082, 0.78,0.78 071
73,68 69, 61, 62 5l
gral6-gral8
(09 0.70,08 085
N7 7
gral9-gra26
(09
065,082 077,071,071, 07, 07L 082 44, 68, 59, 51, ™4,

5,50 68



0
0
0
0
0

2=
3=
4=
h=

(gral + gra2 +gra3) /3

(grad+ grab + grab +grar+ga8 +grad) /6

(graio +gral L+gral2 + gral3 +ga 14+ga 15/ 6

(gral6 + gral7 + gralg) /3

(0ra 19+ gra20 +qra 21+ ga22 +ga23 +ra24 + ras +gra26) / 8

125



0 md

421
MSA
satl sat2 st
sat 1 1.000

sat 2 1541000
sat 3 458 560 1000

MEAN 410 419 412

SD. 85 88 8

MSA 628 59 789

Bartlett's test of sphericity = 175801 p =000
Kaiser - Meyer - Olkin Measure of Sampling = 647

421
P < .001)
0458 074
2 1 3 1
1 - (Kaiser-Meyer-Olkin measure of sampling adequacy = MSA)
0599 0789
422
t R2
b (SE)
(09
sat 1 87 (.06) 1462 .72 3
sat2 87 (.06) 1462 80 56
sat 3 59 (.08) [T 1
Chi-square = 309 df =1 P =008
Gl =099 AGFI = 092 RMR = 0044

111> 1% P<(b, 111>258 P<(l



127

4.22 410

(Chi-square)

300 008 1(df=1)
GF) 0%
(AGFI) 09
(09
05 087 o
087,087 059 R

06 = (satl +sat2+sat3) /3



11.

4.23 ,
MSA
conl con2 con3 cond cond conb con7
conl 1000
con 2 601 1000

cond 523 434 1000

cond 4 3B 6/4 1000

cond 471 418 701 7B 1000

con 486 56 63 55 58 1000

con7 39 ;M 53 58 S5 6% 1000
MEAN 380 403 3% 369 339 38 376
SD 18 8 Y 8 /8 & 1
MSA 8% gL 97 &7 &l jM 8
Bartlett': test of sphericity = 549.866 p=.000

Kaiser - Meyer - Olkin Measure of Sampling = .8%4

4.23
( (P<.00)
03% 073%
5 4 ' 42
(Kaiser-Meyer-Olkin measure of sampling adequacy = MSA)
0821 0907

128



4.24

con 1
con 2
con3
cond
con 5

con 6
con/

Chi- square = 456

GFl =099

111> 1%

41

df = 33
AGFl = 0.98
P<05, 111>258

158
6.23
1218
1107
11.34

1108
11

P< 0L

R2

B8

R B A

B8

(Y
P=09%
RMR = 0014

SR



4.24 411
(Chi-
square) 4.56 0.98 13(df=13)
. (GF1)
0.99 (AGFI) 0.98
052 085
0
3 con 1- con5
(07 con3 oo
08 081
65 cond, conl con2
079060 052
63,36 26 conb
- con/ (08
082 083
63 69

07 = (coni + con2 +con3+ cond +cond) /5
08=(con6 + con7) /2



4.25 Bartlett - - il
( 5il)
Bartlett's Kaiser - Meyer - Olkin
test of P Measure of Sampling
Sphericity
(INPUT)
1007.07 000 83
(CURR)
(TECH) 84064 000 80
(STUD) 228464 000 620
(SUPP) 912037 000 8%
(PROCESS)
1534.924 000 914
(MACUR)
(QATEC) 1131624 000 886
(QESTU) 887106 000 84
(MASUP) 361431 000 856
(OUTCOME)
(GRAD) 282602 000 93
(SATIS) 17851 000 BAT
59866 000 84
(CONS)
4.25

MSA 0620 0933



4.26
il
( 51)
%2 df P GFI AGFI RMR
(INPUT)
(CURR) 7437 101 98 94 92 044
(TECH) 29.41 49 99 97 .95 043
(STUD) 5.55 2 .06 .99 .89 039
(SUPP) 12.31 21 93 98 .96 025
(PROCESS)
(MACUR) 13541 ~ 129 33 91 88 042
(QATEC) 59.03 74 90 94 94 045
(QESTU) 53.76 51 37 94 91 .050
(MASUP) 2.07 8 .98 1.00 .99 014
(OUTCOME)
(GRAD) 284.82 259 13 87 .82 054
(SATIS) 3.09 1 .08 99 .92 044
(CONS) 4.56 13 98 99 98 014
4.26
(Chi - square)
(df) (goodness of fit index = GFI)
(adjusted goodness of fit index = AGFI)
1 (root mean squared = RMR)

0 11



13

3 (second order confirmatory
factor analysis)

( 5 )
( 5 )
3
2
2
2
( S )
2 3
L' (type I error)
(Hair, 1995) 2
2 (Joreskog, 2001) 3
(Chi-
square) (goodness of fit index = GF|)

(adjusted goodness of fit index :AGF].)

(rootmean squared = RMR)



( , 2542)
Bartlett
(identity matrix) - - (Kaiser-Meyer-

Olkin measure of sampling adequacy = MSA) 0.5



il 1.000

2 621 1.000

B3 968 132 1.000

u 368 465 373 1.000

b 504 568 459 419 1.000

16 360 365 293 328 960 1.000

v 340 232 183 384 403 103 1.000

1B 341 208 194 156 357 549 580 1.000

9 468 449 369 9503 249 904 500 301 1.000

110 632 588 963 412 967 555 490 312 41 1.000
MEAN 387 404 407 37052 400 338 330 329 370 382

SD. 52 58 12 66 16 15 3 68 18 10
MSA 909 848 845 872 918 842 805 864 872 875
Bartlett's test of sphericity = 804.144 P = .000

Kaiser - Meyer - Olkin Measure of Sampling = .865

4.27
(P < .001) 8 2
8 3 (P < .01)
7 3 8 4 (P < .05)
156 141 1 10
9 8 4 Bartlett's test ofsphesieity

804.144 (P < .000)
(Kaiser-Meyer-Olkin measure of
sampling adequacy = MSA) 865 MSA

0.805 0.918



Chi-square = 31.05

0.96

4.28

(INPUT)

(CURR)
73
75 (.09)

65 (.09)

(TECH)

66
76 (.10)

73(.11)

87

64(.11)

(SUPP)

.84

(11 .89 (.07)

(CURR)
(TECH)
(STUD)

(SUPP)

111> 1.96 P < .05,

AGFI

86(.11)
94 (.12)
70 (.09)

92 (.09)

df =31

= 0.93

It] >2.58

7.13

7.28

6.39

6.00

11.90

10.17

1.46

= 0.04

P<.01

R2

52

.56

42

43

57

53

19

41

Jq1

19

T4

.88

.50

.84

28
.30

12
25
24

.32

.96

25
.32

49

(INPUT)



R6

.94

1.0>
70

92

412

¥ 26

73

5

65

.66

76

73

.R7

.64

R4
K9

137

.50

' M

h <t
59

I3 <]

55

4 [S

S et

i 46
20

B B |

g [<=f

19 je22

o |le2!




4.28 412
( 5 )
(Chi-square) 3105 0.46
3l (df=31)
(GFI) 0.96 (AGFI)
093 (RMR) = 0.04
4.26
4.12 10
064 089 (0]
10
( 5 )
(19 0.89
( 5 )
[ (17
19
0.87 0.84
( 55 =11
@ (&
0 076
( Gl 56 57
()
() ()
() () 073,

073, 066, 065 064
( 5) R4 4L 4
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( 5 )

4 070 0%
0L
(TECH), (SUPP),
(CURR) (STUD) 0.94,092, 0.86
0.70
( 5 ) (INPUT)
4 (TECH)
(SUPP), (CURR)
(STUD)
(construct  reliability) R2
( 5 ) (INPUT)
8, 84, 74 50 4
(
5 )
( 5 ) (INPUT) 10
@, (1)
13 1,
@ (1, (v
(19,
() (1)

INPUT =028 09 +0.30 (1 +0.12 (1)) +0.25 (14 +0.24 (19 +0.32 (1 + 0.96 (17 +0.25(g) +
0.32(19+0.49 (17)
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2 (PROCESS)

429 '

Pl P2 P3 P4 P5 P6 P7 P8 P9 P10 Pl P12
p1l 1.000
P2 .716  1.000
P3 .662 .643  1.000
P4 715 737 .669  1.000
P5 .599 .611 .586 717 1.000
P6 .615 732 .486 .692 .684  1.000
P7 .561 .613 .556 .582 522 .612  1.000
P8 .533 574 551 .563 575 .604 .730  1.000
P9 .507 451 521 527 .526 .525 .635 .753  1.000
P 10 481 .663 .374 .583 .499 .691 .563 621 .567 1.000
P11 .555 .532 .453 .606 .623 .563 .559 .649 .580 .570 1.000
P12 426 437 .329 489 .534 470 434 417 447 .543 701 1.000
MEAN 3.75 3.80 3.64 3.85 3.77 371 3.56  3.43 3.56 3.79 3.64 3.83
S.D. .68 .75 .65 .59 61 .69 .68 .60 .62 .75 .68 .83
MSA 945  .906 911 .948 .928 .928 .949 .887 .910 .896 .904 .859
Bartlett's test of sphericity = 1329.639 p =.000

Kaiser - Meyer - Olkin Measure of Sampling = .916

4.29
(P<.001)
329 3 1 9 8
123 Bartlett's test of sphericity
1329639 (P < .000)
- - (Kaiser-Meyer-Olkin measure of sampling
adequacy = MSA) 916 MSA 0.859
0.949
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430

( 5)
(PROCESS)
t R
b(SE)
(MACUR)
(P) & - 8 2
(P2 &(07) LR N Ril
(P) 18(07) 108 6l 16
(P &(07) 2B 3 2
(QATEC)
(P e - 2
(P§ 16(.07) 114 5 ®
Py M(08 9% & 2
(QESTU)
(P§ : - R 20
P .16(.06) VX Y v
(PO H(07) 1031 % 24
(MASUP)
(Pu)y % - B8 12
(PR T4(.08) 9% A 15
( 5 )
(PROCESS)
(MACUR)  .89(.09) 100 M
(QATEC)  100(.09 112 100
(QASTU) Y(.08) 1y
. (MASUP) 80(.08) 04 o
Chi-square = 47.10 df = 50 P=(%
GF =0% AGF =092  RMR =009

111> 1.96 P<.05 111>258 P< .01
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<46

P12

»| Pll

.94

MASUP

<
o

9
1.0
94

R

74

413
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4.30 4.13
( 5 )
(Chi-square) 47.10 0.59
50 (df=50)
(GFI) 0.95 (AGFI)
0.92 (RMR) =0.029
12 0.74 094
0L 12
( 5 )
(P1) 0.94
( 5 )
&8
(P (P4
Py 0.85
( 5 )
-1
(P) (P9,
(P, (3, (P9,
(P9, (P (P

082, 0.79, 0.79, 0.78,0.76, 0.76, 0.75 0.74

68, 64, 63, 61,59,57,56 4



( 5 )

144

4 0.80 100
0L
(QATEC),
(QASTU), (MACUR)
(MASUP) 1.00,0.94,0.89, 0.80
(
4
(QATEC)
(QASTU),
(MACUR) (MASUP)
(construct reliability) R2
(
(PROCESS) 100, 89, 79 o4
4
( 5 )
( 5 ) (PROCESS)
% (P2 (P2,
(P3 ‘ (P4,
(P3, (P8,
(P, (P9, (P9,
(Pi0, (P (P2

PROCESS =0.20 (P +0.31 (P2 +0.16 (P3 +0.26 (P4 +0.26 (P5 + 0.05 (P§ +0.22 (P
+027(P§ +0.12 (P9 +024 (PY +0.72(P,3 + 0.15 (PD



3 ! (OUTCOME)

431

01 02 03 04 05 06 07 08
01 1.000

02 390 1.000

03 392 825 1.000

04 365 770 753 1.000

05 393 660 714 720 1.000

06 413 736 684 774 603 1.000

07 381 506 505 463  .653 547 1000

08 380 357 468 383 609 405 700 1.000
MEAN 361 393 387 416 383 414 3.74 3.79

S.D. 63 65 .68 7 .62 13 67 13

MSA 960 861 878 860 .888 .88l 824 804
Bartlett's test of sphericity = 834.097 p = .000

Kaiser- Meyer- Olkin Measure of Sampling = .865

431

Bl 85
3 2 1 8
sphesieity 834.097 (P < .000)

measre of sampling adequacy = MSA) 365
0.804 0.960

2

14

(P < 00

Bartlett's test of

(Kaiser-Meyer-Olkin
MSA



GFl =099

4.32
[
(OUTCOME)
h(SE)
(GRAD)
() 3
(02 87(13)
(03 84(13
(04 8(14)
(09 8 (1)
(SATIS)
(09 97
(CONS)
07 %
(08 7(09
(OUTCOME)
(GRAD) 9% (.15)
(SATIS) 9L (.07)
- (CONS)  .65(.08)
Chi- souare = 6.77 df = 18
AGFI = 098
111> 1.9 P<05 111> 258

6.5/
6.43
6.43
6.2

157

6.44
1235
8.23

P =099
RMR = 0.02
P< (1

146

(- 5)
R2
B 5
B
01
N3
N2
% 4
% 10
R 4

( 5 )
a
8
8



147

0l I3
53
25
09 02
R
R4 30
03 |e=
9
95 R3 21
. 04
31
18 05 <
91
97 .05
06
.65
Wi
96 07 <7 __|
71
08 <47

4.14 f
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4.32 414 (
( 5 )
(Chi- square) 677 099
18 (df=18)
(GFI) 0.99 (AGFI)
0.98 (RMR) =002
8 053 097 0L
(0§ 0.97
( 5 ) %
(07, (04
(02 (03,
(03, (09
() 0.96, 0.89, 0.87, 0.84, 0.83, 0.71,
053
( 5 ) 93, 79, 75, 70, 69, 52 28
( 5 )
3 0.65 0.9
0
(GRAD)
(SATIS) (CONS)
095091 065
( 5 )
(OUTCOME) (GRAD)
(SATIS) (CONS)

(construct reliability) R2



149

( 5 ) (OUTCOME) 0L B

3
( 5 )
( 5 ) (OUTCOME)
8 0,),
(02 (03, 0,)
(09, (0n
(09 (08

OUTCOME =0.15(0)) +0.19 (02 +011 (03 +023 (04 +032 (05 + 091 (0 )
+1.00(07 +02L (08



( 5 ) 3
INPUT =028 ( ) +030( ) +012( ) +0.25( ) +024( ) +032( ) +096( ) +0.25( ) +
032( )+049( 0

PROCESS =0.20 (P} +03L (P2 +0.16 (P)) +0.26 (P} +0.26 (P)) +0.05 (P§ + 0.2 (P}
+027 (P§ +0.12 (P9 +024 (PQ +072 (P1) +0.15 (P2

OUTCOME =0.15 (09 +0.19 (03 +0.1 (09 +023 (04 +032 (03 +09L (Og
+ 100 (07 +021 (08



433

INPUT

PROCESS

OUTCOME

|

85 &S

3
147

3
147

37
147

1282
131
1229
12.19
1090
1090
111
109
1250
11.80

1232
1219

244
150
L
198
19
Wil
144
159
197
1%

164
176

df

14
146

144
146

144
146

S
1471
555.68
50.39

114
366.63
367.77

1457
436.31

450.88

MS
1.36
3.86

0.57
2.5

1.9
303

1.906

0.223

2405
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